Collaboration 3: Manufacturer, Supplier, Assembler

CS3 - Computer Science Team 3 Box Plot showing Team Choices
(score ranked by RKS)

BA2 - Business Administration Students Team 2
BA4 - Business Administration Students Team 4
BAS - Business Administration Students Team 5
BA7 - Business Administration Students Team 7

To observe the fitness&efficiency rating
of each alternative per scenario
Fairness / Efficiency of each criteria by

scenario

Alternative 3 is generally more fair than the other
solutions. If efficiency were the priority, teams
would have picked 1, which gives more utility in
all criteria types except reliability. So in this
instance both fairness and the higher utility in
reliability led to the choice of alternative 3.
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for all criterias. -~ Choice is between 4 and 5. If

fairness were considered, then
teams would pick 5. But in this

case, all teams preferred 4 due to
more efficient utility in cost, as
well as higher efficiency in time.
Efficiency trumps fairness in this
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Ranking of Alternatives by each Effects of Alternatives to each
Criteria (RKS + additive) partner's utilities (on time, reliability
and cost).

Alternative 3 gives uniformly fair change effects.
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Q: Can we extract the preferences from the criteria charts in combination with the alternative effects on partenrs”? We have the preferences from each business adiministration student.



